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General Instructions :

1.

2.

Ne

Candidate must write his/her Roll Number on the first page of the questlon

paper.

Please check the questlon paper to verify that the total pages and total number

of questions contained in the question paper are the same as those printed on

the top of the first page. Also check to see that the questions are in sequential
order.

For the objective type of questions, you have to choose any one of the four

alternatives given in the questlon 1.e. (A), (B), (C) or (D) and indicate your correct

answer in the answer-book given to you.

All the questions including objective type questions are to be answered within

the allotted time and no separate time limit is fixed for answering objective type

questions.

Making any identification mark in the answer-book or writing roll number

anywhere other than the specified places will lead to disqualification of the

candidate.

Write your question paper Code No. 36/HS/3——A on the answer-book.-

(@) The question paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer
in the box provided in the answer-book.

() If you choose to write the answer in the language other than Hindi and

' English, the responsibility for any errors/mistakes in understanding the

question will be yours only.
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SCIENCE AND TECHNOLOGY

(o @& wenfirent)
(212)
Time : 2% Hours] K , ' [Maximum Marks : 85
, 1 » : .
w20 W ~ , - quie : 85
Note .— 1. All questions are cbmpulsory.

2. Marks are given against each question.
fder .— 1. =t v wifed ¥
2. Y% YW1 % Ik IwH W fedr m ¥

1.  The isotopes of an element have : - - | 1
(A) -same physical properties
(B) different chemical properties
(C) different number of protons
(D) different number of neutrons

TH dd & T wmeenfie g9 ¥
(A) T S AdfaF T T
(B) = wamEts U A
(C) Tv= WM =t e o
(D) fu=1 = = den T

2. The element having maximum non-metallic character is : 1
(A) Fluorine ~(B) Chlorine
(C) Bromine (D) Iodine
Taifae stenfare sifiatemn oen @@ ¥ »
(A) TR | B) ¥
(C) <A R (D) rEH
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3. Whlle taking a catch, the cricketer pulls his hand backwards to :"1
(A) increase the time of catch
(B) decrease the time of catch
(C) decrease the total change in momenturﬁ
~ (D) apply large average force
%9 o0 T e foard) it & wg o wdl & i % ok w& @
g ? ,
() TS B WHE-ITRE W R
(B) THSY % WHI-IRNA B B FA B foC
(C) W F FA YR R wH arr?'f Ed fenz
(D) efue ofma o T & f“aq

4. The shape of our galaxy is : a ' 1
(A) spheﬁcal | ' . (B) elliptica1
(C) irregular : , (D) ) spiral
TR ARl (o) 1 SRR ¥
(A) TR - (B) <R
(C) wifrafie | D) wfia
5.  Blue glass is prepared by adding : ' , | 1
| (A) chromium oxide ~ (B) ferrous oxide
(C) cobalt oxide (D) selenium oxide
5o Tl & fied W R W wte § e @ oenm s ¥ 2
(A) wifTgn SieuEs 3 (B) w9 s !
©) wawe e (D) fadhifem s
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6\?4 A certain person is taking polished rice only in his diet. He is likely

to suffer from : . | 1
(A) Rickets ~ (B) Pellagra
(C) Night-blindness (D) Beri-Beri

FE A AU A5 H dad faeT e (dfcye 9ed) @ W R | ¥
HEA W A H TEHEA § 2

(A) Terem B B Sip)
(C) el (D) =O-s1
7. Shooting stars are : | ' 1
(A) meteorites (B) rheteorides
(C) meteors ; | (D) burn stars
(A) 3ol fuog (B) 34
(C) o=l (D) 2 @
8. A device that converts sound waves into electrical signals is : 1
(A) Microphone (B) Amplifier
(C) quulator , - (D) Loudspeaker
saft Tl W faEd faeel § wRefie wO Al g o
(A) TIRIGH (B) UT&AHRR
(C) HIgAHH v (D) dIREHEE
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10.

11.

12.

In vacuum radio waves and light waves have : Y|

J

(A) same speed and same wavelength
(B) different speed and different wavelength

(C) same speed but different wavelength

(D) .different speed but same wavelength

fata (g ) # et wti aw yww W @ A @
(A) W W a gue e 9y ¥ |

(B) @WH =@ qu orgum qonsd B ¥

(C) WM = Wy 3gAA T dy

(D) A 9 g 9HE s dn §

Define ‘amplitude’ and ‘time period’ of a simple pendulum. 2
fedt @@ <iew & fau ‘smm' ogwr Caradwm’ w ufeamn
fafera

Convert the following measurements as directed :

(i) 100 millilitre into litre -

(i) 257 micrometer into metre. _ ‘ | : 2
Frefafen =it #) srifem =t & aefed

@) 100 foeilefter =Y offex § -

(i) 257 AEHHEX H Hex F

Sodium metal (atomic number 11) combines with chlorine (atomic
number 17) to produce sodium chloride. By means of diagrams, illus-
trate the arrangement of electrons of sodium atom and chlorine atom
both before and after the reaction. ' 2
mm(mm.n)aﬁm(mmm & T ¥ difeam
T T ¥ | ARG H weEA  Weam qmw FH WA §

| R F s, s @ T e aw A Tl
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14.

15.

(@) If H* concentration, [H*] of a solution is 1 x 10~2 mol L-1 what
is the pH value for this solution ? : »
(6)  Which has a higher pH value, IM HCl or 1M NaOH
~ solution ? 2
(1) =i foelt faeram & H* @, [H] 1 x 1072 mol L &, & 3w
pH 99 =1 &1 2
() 1M HCl 3R 1M NaOH ¥ & frwe pH o sifus ¥ 2

(@) What is the role of :
| (i)  control rods;‘and
(11) coolant in a nuclear reactor.
() Name one substance used as
(i)  control rod; and
(ii) coolant. , ' 2
(37) fewr foaed § frefafen &t w0 i & 2
@) fraw sg; ek
(ii) Yiaes | ¢
(F) 30 THh-t& il F am fafed fowesr .
() fEss wEl; @ik
(i) Ydew & w9 d 3@ AW ¥

Explain why : _

(1) Tungsten is used for making filaments of incandescent
lamps. ' ,

(ii) - Electric fuses are made of lead-tin alloy. | 2

frafafeq & o o= =+ .
@) Ea d= § wm oA e w1 4 dar ¥ 2
(i) foga =& 9 @ f7 #) fagug & & 9 W@ § 2
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16. Name the two hormones secreted by pancreas. Give one functiort of

each hormone named. ' _ 2
A H wfod g e & g & AW fafted 1 31 A1 gl o ueh-uen
#E fafed |

17. A ball falls from a height of 20 m :
- (1)  With what velocity it will strike the ground ?
(ii) After how much time it will strike the ground ?

‘ g = 10 ms?] 4

w iz 20 m S ¥ A E @ owE -

(i) @ ¥ fHg 90 @ Tt § 2

(ii) fohdd 999 & 999N ydd 9 Ha@h ?
| lg = 10 ms2]

18. An electric heater is used on a 220 V supply and takes a current of
' 5 A. Calculate :
(i)  its power; and
(it) cost of usihg the heater for 2 hours, if 1 kWh costs
Rs. 3.00. f 4
T foIgd-Fe 220 V & W0 (T@E) W AR 9 5 A & fagd "w
M % 1 o FfR |
(i)  TEh! e qe
(i) T TOAH I 2 WO WM FH & =9 A 1 kWh w1 I 3.00 %
S
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19.

. 20.

List any three characteristics which have made earth a unique planet.

What is the probability of life on the planets of other solar systems

in the universe ? How ? : 4
‘mﬁﬁ‘f?ﬁ#aﬂamaﬁlﬁﬁmﬁ%ﬁqwﬁﬁ@ﬁﬁmmm
¥ ) ¥ wEmve # o dRuvedl @ WE W Sfiew weE ¥ 2 &9 ?

(a)
b) ‘}

(37)

G

21.

22.

(a)
%)
(30)

()

(a)
b)

(c)

Name the main ore of Aluminium. Write its formula.
Describe the method employed for the concentration of above
named ore. 4
Qqﬁqﬁm%@g@mmmamrﬁﬁf@ﬁ |

S S & Wsv &t fafy @ aofv wifsd

Energy flow in biosphere is unidirectional. Explain with the help
of an example. | ' | ‘

‘Using a simple food chain, explain the energy flow in an eco-

system. . i 4
ﬁa—wﬁﬁmmwﬁsﬁam%lwmw
T | .

TH WA TE-JE F1 KR A fmd afes # s vEw

H IR |

List any two sources of soil pollution and state how do they cause
this type of 'pollution. , .
Distinguish between biodegradable and non-biodegradable
wastes. '

Choose the non-biodegradable waste from the list given

- below :

D.D.T., agricultural waste, sewage and radioactive waste. 4

212/86/HS/8—A 9 : P.T.O.



23.

24.

(@

()
(7)

(@)

(b)

(31)
(%)

- ' J

ww%ﬁa‘r@aﬁw@ﬁ |ﬁ@ammwu@maﬁﬁ
£ 2 .
sﬁaﬁmsﬂawﬁwﬁaﬁamﬂam@ﬁﬂaaﬁm B
frfafe =t & ¥ R-fa fomewia s & 3fA .
& A, wi euRme, afs Tw, Weafes smfse |

What are genes ? Where are genes located ?
Criminals can now be identified by ‘DNA ﬁngerprlntlng’ How is

it a foolproof method ? Explain. | , 4
S own € 72 i ol feam @9 ¥ 2 |

mfwaﬁw‘ﬂmqfwwmﬁnmmwm%l
Tuened fo o o favawda fafa = we @ R 2

Draw diagram of a generalizéd animal cell. Label the following parts

on it :

(@)

(it)
(iii)
(w)

Nucleus;
Mitochondrion;
Cytoplasm; and

Cell membrane. ” S 4

T AH=AR ST-hifment &1 3RE Sifad | 'S?TfT frfafed 91Pﬁ1 Eal aqﬁa7a'
HIfa

(1)
(i)

(i)

(tv)

W; : _
LIECIEIREDIF
HITRES; qdl
wfenT foeet |
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25.

26.

27,

28.

29.

What is an epidemic disease ? Give its two examples. Are these diseases
taken care of under personal health or community health ? Give any

two reasons for your answer. ‘ -4

wﬁmmm%vwamaﬁa | R 3 AW w1
mmmw%mm%awmwﬁwﬁa ? o

'maﬁmaﬁgaww@al

- Write two differences between fertilizers and manures. Give fwo examples

of each. | | | 4
I Te @ H ar IR fafed | T & d-dr e i

Give two points of ciifference betweén polar and geo-stationary orbits.
Draw a labelled diagram of a satellite placed in polar orbit. 4
yatg qemn &4@%$$maﬁﬁawlﬁf®'& | g we § Tenfud IWR
® i SRE |

List the fdur postulates of Dalton’s Atomic Theory. Give one evidence

of modern technology which supports this theory. 6

T % T A & AR g @ gel oed | YT e 6

T Tm ovEm e W Tm fag w wE fag I ® O

(@) Distinguish between the following energy sources :
(i) renewable and non-renewable; |

(ii) exhaustible and inexhaustible.

212/36/HS/3—A 1 PT.O.



- 30.

(b)

(e)

(31)

(¥)

@

J
What is meant by the term ‘energy crisis’ ? Suggest any two ways
to overcome this. ‘

List any two sources of energy you would recommend for our
country. 6
frefefen yoR & ot @ O § 9% FRW

(i) e T srEEh;

() W @ SH A M H T g E oae |

‘ol gHe' R T A Y 2 T we B R ST g
AW W P R e B e @A W g

Define the following terms and give one example of organism repro-

@)
i)
(iii)
(iv)

 duced by each process :

Binary Fission
Budding
Fragmentation ,
Vegetative propagation. ‘ ‘ 6 .

ﬁw@f@aqﬁﬁuﬁwﬁaﬁmaﬂtmﬁmmﬁﬁa?ﬁaww
EARSUEHIS IR

(@)
(ii)
(iit)
(iv)

fefavrm
HqRT
fa@vea
HIfgeh TR0 |
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